QUESTIONNAIRE
1. The FIM™+FAM is the outcome measure used only by Occupational Therapists to indicate change in the independent functioning of patients to the team and funders. 
a) True

b) False
2. Domain represented in the The FIM™+FAM include: 
a) Motor

b) Cognitive 

c) a and b

d) None of the above
3. The APOM is a South African developed outcome measure accessible to all Occupational Therapists.
a) True

b) False

4. The APOM and the FIM™+FAM are developed for a population of
a) 18 years and younger
b) 18 years only 
c) 18 years and older
d) None of the above
5. A one week’s training is required for Occupational Therapists to be eligible to use the APOM.

a) True

b) False

6. The APOM measures eight domains, which of the following are correct?

a) Process Skills (6 items)
b) Communication and Interaction Skills (10 items)
c) Life skills (14 items)
d) All of the above

e) b only

7. There was no statiscal difference between the responsiveness of the APOM and FIM™+FAM based on total scores of the study.
a) True
b) False
8. The result of the study supports concurrent validity of the APOM in TBI populations
a) True

b) False
9. The APOM provides clearer picture in terms of the following items which are known areas of difficulty in the TBI population and not identified in the FIM™+FAM
a) Motivation
b) Affect
c) Self-esteem
d) All of the above

e) None of the above
10. Which of the following statements represent the views of the Occupational Therapists in 
      the study regarding the use of APOM as an outcome measure in TBI?

a) it is beneficial in guiding therapy goals
b) it enabled them to focus on activity participation levels instead of being impairment focused
c) guide their feedback to the patient families 
d) provides for descriptive recommendation 
e) all the above

